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% g te 2 AERAL | fIERAL | #IAL ATALE
2 (%) FHE (%) FHE
wE 100.3 0.4 0.1
BH 101.8 0.4 0.11 -05 -0.14
EEE] 100.3 -20 -0.05 -1.8 -0.04
arsE 106.4 5.0 0.12 1.3 0.03
A5E 107.8 5.8 0.14 3.0 0.07
ZLON%E 100.1 -0.7 -0.01 1.1 0.02
Fx-EE 99.6 -1.3 -0.03 -1.3 -0.04
2 103.3 -1.9 -0.02 -8.4 -0.11
SHAE - SRR 101.8 0.8 0.01 0.4 0.01
] 103.1 1.7 0.04 -1.2 -0.03
RIEEM 974 -33 -0.10 -1.7 -0.05
fRH 1015 0.6 0.01 -0.2 0.00
ESE 100.0 1.1 0.01 0.0 0.00
NE 101.2 -0.1 0.00 0.0 0.00
THE 99.4 -0.4 -0.07 0.0 0.00
xg 99.1 -0.5 -0.08 0.0 0.00
R iEEE - 100.9 0.0 0.00 0.2 0.01
F&-KE 98.5 4.1 0.30 10 0.07
;F-;Es—ﬁﬁ 97.7 3.2 0.12 1.7 0.07
] A 92.2 -25 -0.03 0.4 0.01
oSz 92.8 21.4 0.08 0.0 0.00
LETFAKEH 107.3 7.3 0.13 0.0 0.00
RE-REAR 98.0 -3.0 -0.11 0.0 0.00
RERAM A 92.8 -7.1 -0.08 -16 -0.02
FRNEHER 93.7 -10.3 -0.02 1.3 0.00
Eif}g 102.1 3.9 0.01 0.6 0.00
REHE 103.1 -0.9 -0.01 -0.3 0.00
%gﬁiiﬁﬁcﬁ: 99.4 -1.3 -0.01 1.8 0.02
REY—ER 99.8 0.0 0.00 0.0 0.00
HREUVEY 103.0 0.0 0.00 25 0.11
~_H 103.7 15 0.03 14 0.03
%}%"Zﬁ't_g_' TiESE 101.7 -0.7 -0.01 8.4 0.09
% 99.4 -5.7 -0.04 1.2 0.01
1ﬁ3®$&ﬂ& ] 108.1 3.2 0.01 -4.0 -0.02
HARE E Y —EX 104.0 0.7 0.00 0.0 0.00
RERER 100.4 0.4 0.02 -0.1 -0.01
=5 an - fR R AR T AL 100.0 1.2 0.01 1.0 0.01
REERAR-FE 99.1 -0.2 0.00 -2.0 -0.02
FEEEY—EXR 101.3 0.1 0.00 0.0 0.00
- iE{‘ 98.2 0.6 0.11 05 0.08
RE 98.8 -1.2 -0.01 -1.7 -0.02
E HEFHERE 99.3 3.1 0.34 -0.2 -0.02
BiE 95.4 -4.6 -0.22 3.0 0.13
#HE 102.3 0.6 0.01 05 0.01
BRENE 103.7 0.9 0.01 0.8 0.01
HEE-2ESELHM 101.0 0.8 0.00 0.1 0.00
HEHRE 100.0 0.0 0.00 0.0 0.00
BEIRE 101.4 0.0 0.00 -0.3 -0.03
HE L rmmﬂar 105.4 -0.4 0.00 0.2 0.00
HEIREAR 99.0 -2.6 -0.06 -30 -0.07
E5E-hD EIJF'IJ% 100.6 0.2 0.00 0.0 0.00
BEPESG—ER 102.3 1.2 0.06 0.8 0.04
HME 101.9 0.4 0.03 0.2 0.01
HERY—ER 100.6 0.6 0.01 -0.3 0.00
BEXAAR 100.4 0.2 0.00 0.0 0.00
SDEYHAR 107.6 0.4 0.00 -05 0.00
=IES 102.4 0.7 0.00 0.7 0.00
R E 101.9 05 0.02 0.5 0.02
ERraEhiRika 100.2 0.4 0.38 0.2 0.23
$EHBARUIRILY—4RR<BEE 100.5 -0.2 -0.18 0.2 0.16




2 - th E#ST RIT B SR

20154 =100
ES 5 I if 9L i
#£ A E ﬁ?) E RAITA H E ﬁ?) E RAITA H E ﬁ?) E I A H
Mz ! H ! | Mz ! H ! | Mz ! H ! |
?ﬁ‘ ;& W G0} ?ﬁ‘ ;& W G0} ?ﬁ‘ ;& W G0}
H (00) H (00) H (00 H (00) H (00 H (00)
Nk 244E 96. 2 0.0 96. 3 0.1 96. 2 0.4
25 96. 6 0.4 96. 6 0.2 96. 6 0.4
26 99. 2 2.7 99.1 2.6 99. 2 2.6
27 100.0 0.8 100.0 0.9 100.0 0.8
28 99. 9 -0. 1 100.0 0.0 99.7 -0.3
28/4 99.9 -0.3 0.2 99.9 -0. 2 0.3 99.5 -0.3 -0.1
5 100.0 -0.5 0.1 99. 8 -0.7 -0.1 99.9 -0.6 0.3
6 99.9 -0.4 -0.1 99.7 -0.4 -0.1 99.6 -0. 8 -0.3
7 99.6 -0.4 -0. 2 99.6 -0.4 -0.1 99.5 -0. 8 -0.1
8 99.7 -0.5 0.0 99.9 -0.3 0.3 99.6 -0. 8 0.1
9 99. 8 -0.5 0.2 99.9 -0.4 -0.1 99.6 -1.0 0.1
10 100. 4 0.1 0.6 100. 8 0.5 0.9 100. 1 -0. 2 0.4
11 100. 4 0.5 0.0 100. 7 0.9 0.0 100.0 0.1 0.0
12 100. 1 0.3 -0. 2 100. 6 0.9 -0.1 99.9 0.2 -0.1
29/1 100.0 0.4 -0. 2 100. 4 0.9 -0. 2 99.9 0.5 0.0
2 99. 8 0.3 -0.1 100. 2 0.6 -0. 2 99.5 0.0 -0.4
3 99.9 0.2 0.1 100. 2 0.6 0.0 99. 3 -0.3 -0.1
4 100. 3 0.4 0.4 100. 3 0.4 0.1 99. 7 0.2 0.4
] L il I B (L 5] il
COHIAE COHIAE COHIAE
A & #% <|atf> DET | FE O <|atf> DET | FE O <|atf> DRI
%) (%) %) (%) (%) (%)
SRk 244F 96. 8 -0. 2 96. 2 -0.3 96. 6 -0. 2
25 96.9 0.2 96. 1 -0.1 96. 6 0.0
26 99. 4 2.5 98.5 2.5 99.3 2.7
27 100. 0 0.6 100.0 1.5 100.0 0.7
28 99.9 —0.1 100. 0 0.0 100. 0 0.0
28/4 99.9 -0. 2 0.4 100. 1 -0.1 0.2 100. 1 0.0 0.5
5 100.0 -0.4 0.0 100. 1 -0.3 0.0 100. 2 -0.3 0.1
6 99.9 -0.3 -0.1 100. 2 0.0 0.1 100. 1 0.0 -0.1
7 99.7 -0.4 -0.3 99.7 -0.3 -0.5 99. 8 -0.4 -0.3
8 99.7 -0.5 0.0 99.7 -0.3 0.0 99.9 -0.3 0.1
9 100. 1 -0.4 0.4 99. 8 -0.9 0.1 100. 3 0.0 0.4
10 100. 5 0.0 0.5 100. 6 0.1 0.9 100. 5 0.3 0.1
11 100. 6 0.7 0.0 100. 5 0.5 -0.1 100. 2 0.2 -0. 2
12 100. 1 0.6 -0.4 100. 3 0.3 -0.3 100.0 0.1 -0.3
29/1 100. 2 1.0 0.0 100.0 0.3 -0. 2 100. 2 0.7 0.2
2 100. 2 0.9 0.1 99. 8 0.0 -0. 2 99.7 0.2 -0.4
3 100. 1 0.6 -0.1 99. 8 -0.1 0.0 99.9 0.3 0.2
4 100. 2 0.2 0.0 100. 3 0.2 0.6 100. 3 0.2 0.4
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e = & ¥ tE B k# - kE | RE-FEAR | HWEROBY | £ & E R
| RIEE | RIEE | RIEE | RIEE | RIEE | RIEE R |
R 1R % (RA) RAK R B (RA) MRk | % (RA) wiAk R ¥ (AR) 8Bk |48 %K (RA) MiALk| 8 %k (MA) #iAk| 18 % (RA)wAKL
Dok Do Dok Do Dok Do DB
(%) (%) L (%) ! (%) (%) (%) L (%) ! (%) (%) (%) L %) () (%) (%)
UERAY 10000 2617 1862 753 374 437 424
244F | 96. 3 0.1 92.2 0.1 100.3  -0.4 96. 0 4.0 96.8 0.3 98.9 0.3 98.5 -1.0
254 | 96. 6 0.2 92.3 0.2 100.0 -0.3 97.9 2.0 94.7 2.1 99.8 0.9 97.9 -0.6
264F | 99. 1 2.6 96. 2 4.2 100. 1 0.0 102. 4 4.6 97.2 2.7 100. 4 0.6 98.8 0.9
274 |100. 0 0.9 100. 0 4.0 100.0 -0.1 100.0 -2.3 100.0 2.9 100.0 -0.4 100.0 1.2
284F (100. 0 0.0 101.8 1.8 99.8 -0.2 94.9 5.1 99.9 -0.1 102.7 2.7 100.5 0.5
28/4199.9 -0.2 0.3 [[101.3 1.3 -0.3]99.8 0.0 0.0 [94.6 -6.6 -0.4 |101.0 -1.2 1.9 |102.9 2.8 1.4 1100.1 0.0 0.0
5 99.8 -0.7 -0.1 [|101.4 0.5 0.01]99.9 -0.2 0.0 [95.2 -6.7 0. 98.8 -1.5 -2.2 [102.9 2.3 -0.1]100.5 0.2 0.5
6 99.7 -0.4 -0.1 [|100.8 1.0 -0.6 199.8 -0.2 0.0 [94.5 -6.3 -0.8 |98.0 -2.4 -0.7 |102.5 2.6 -0.3 |100.9 0.8 0.3
7 99.6 -0.4 -0.1 [|100.9 1.0 0.11]99.8 -0.2 0.0 {94.1 -5.7 -0.41]99.6 0.0 1.6 |100.8 2.8 -1.7]101.1 1.0 0.2
8 99.9 -0.3 0.3 |[102.0 1.0 1.1199.8 -0.2 0.0 [93.7 -5.4 -0.51]99.6 1.1 0.1 [100.9 4.0 0.1 ]100.8 0.5 -0.3
9 99.9 -0.4 -0.1 [|101.5 0.2 -0.51]99.7 -0.2 -0.11]93.4 -5.0 -0.3 |100.3 0.7 0.6 [105.1 3.2 4.1 1100.3 -0.5 -0.5
10 (100.8 0.5 0.9 |[103.6 2.8 2.0199.8 -0.4 0.0 [95.0 -3.0 1.8 |101.3 -0.3 1.1 |105.2 2.7 0.2 ]100.8 0.5 0.5
11 {100.7 0.9 0.0 |{103. 1 3.4 -0.4199.7 -0.5 -0.11]95.4 -2.7 0.4199.9 -0.4 -1.4 |106.1 3.3 0.8 | 101.0 1.1 0.2
12 {100.6 0.9 -0.1 |102.6 2.9 -0.5199.6 -0.2 -0.11]95.8 -1.9 0.5 |101.4 -0.3 1.5 |104.9 2.8 -1.1]100.7 0.7 -0.3
29/1 |100. 4 0.9 -0.2 |102.9 1.8 0.3 199.9 0.1 0.2 96.1 -0.3 0.3 |100.3 0.2 -1.1 |101.1 1.2 -3.6 | 100.5 0.7 -0.2
2 [100.2 0.6 -0.2 |102.4 0.7 -0.51]99.5 -0.2 -0.41]96.9 1.2 0.8 198.9 -0.6 -1.3 |101.0 1.3 -0.2]100.0 0.3 -0.5
3 |100.2 0.6 0.0 |[102.3 0.7 0.0199.4 -0.4 -0.1]97.6 L7 0.7198.0 -1.1 -0.9 |100.4 -1.1 -0.5|100.6 0.5 0.5
4 [100.3 0.4 0.1 |[101.8 0.4 -0.5199.4 -0.4 0.0 | 98.5 o Il 1.0 [ 98.0 -3.0 0.0 [103.0 0.0 2.5 1100.4 0.4 -0.1
s@E - BRE | % ol omo%omox | B R R |smesrmoesTERFERUSTV
| | | | | |
A 4R K (RA) I HIA K| 8 %K (RA) AR k| 78 K (RA) AL | #8 % (FLA) A | #8 %0 (RLA) LW B |48 200 (FUA) A I
Pk p oo Pk p oo Pk p oo
(%) (%) (%) | (%) (%) (%) (%) | (%) (%) (%) (%) | (%)
UERAY 1735 213 906 679 9581 8698
244F | 98.8 0.4 96. 6 0.4 95.8 -1.2 94.5 0.1 96.9 0.2
254F [100. 1 1.4 97.2 0.6 94.8 -1.0 95.4 1.0 97.2 0.3
264F [102. 7 2.5 98.8 1.7 98. 1 3.5 98.8 3.6 99.4 2.3
2745 1100.0 2.6 100. 0 1.2 100.0 2.0 100. 0 1.2 100.0 0.6 100. 0
2845 97.7 2.3 101. 4 1.4 101.1 1.1 101. 1 1.1 99.7 -0.3 100. 6 0.6
28/4197.6 -2.3 0.6 [101.7 1.4 1.4 (101.4 1.4 1.2 |101.5 1.7 0. 99.8 -0.2 0.4 |100.8 0.8 0.4
5 97.5 -3.3 -0.1 [101.7 1.4 0.0 |100.7 1.1 -0.6 (101.2 1.4 -0.299.7 -0.7 -0.1 [100.5 0.5 -0.2
6 98.4 -2.6 0.8 |101.7 1.4 0.0 |100.5 1.1 -0.2 (101.0 1.3 -0.2(99.6 -0.5 -0.1 [100.4 0.5 -0.2
7 98.0 -3.0 -0.4 [101.8 1.4 0.1 |100.8 0.8 0.2 |101.1 1.6 0.199.6 -0.6 0.0 |100.4 0.4 0.1
8 97.7 -2.7 -0.3 [101.8 1.4 0.0 |101.8 0.7 1.0 |101.0 1.1 -0.1(99.6 -0.4 0.0 |100.6 0.5 0.2
9 97.3 -2.5 -0.4 [101.8 1.4 0.0 |101.3 1.2 -0.4 (101.5 1.1 0.5(99.5 -0.6 -0.1 |100.5 0.1 -0.1
10 | 97.7 -1.8 0.4 |101.8 1.4 0.0 |102.5 1.8 1.1 |101.1 0.9 -0.4 |100.0 -0.2 0.5 |100.9 0.4 0.5
11 |98.3 -0.9 0.6 |101.8 1.4 0.0 |102.4 1.8 -0.1 (101.0 0.7 -0.1 [{100.2 0.1 0.2 |101.0 0.5 0.1
12 1 98.7 -0.4 0.4 |101.8 1.4 0.0 |101.6 1.6 -0.8 [101.4 1.0 0.5 [100.3 0.2 0.0 |100.9 0.5 -0.1
29/1] 98.2 0.7 -0.5 |101.8 1.4 0.0 |100.9 1.0 -0.7 |101.6 0.9 0.2 [[100.0 0.5 -0.3 |100.6 0.3 -0.3
2 98. 1 1.1 -0.1 (101.8 1.5 0.0 |101.2 1.4 0.4 |101.0 0.2 -0.6[99.9 0.5 -0.2 |100.3 0.1 -0.3
3 97.7 0.7 -0.4 |101.8 1.5 0.0 |101.7 1.6 0.4 |101.7 1.0 0.7 [100.0 0.6 0.1 |100.4 0.0 0.0
4 98. 2 0.6 0.5 |102.3 0.6 0.5 |101.4 0.0 -0.3 |101.9 0.4 0.2 (100.2 0.4 0.2 |100.5 -0.2 0.2
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28/4]99.9 |101.3 5102.4 2101‘3 5101.9 2100‘9 5100.9 2105‘3 5101.0 2101‘4 5100.7 2100‘9 98.9 2101 3] 99.8 99.6 100.9
5 |99.8 [101.4 1102.0 1100.5 1101.9 1100.5 : 98.6 1115.3 $102.3 1101.5 1100.1 1100.7 ! 98.5 1101.3 | 99.9 1 99.6 : 100.9
6 |99.7 [100.8 1101.9 '101.8 1100.1 ! 99.3 ! 98.3 1107.3 $102.4 '102.3 ' 98.7 '101.2 | 97.4 '101.3 | 99.8  99.6 : 100.8
7 | 99.6 [100.9 5101.7 5104‘9 97.5 5100‘0 98.0 5103‘2 5102.4 5101‘7 5100.5 5101‘5 98.6 5101‘3 99.8 99.6 100. 6
8 |99.9 [102.0 1 99.8 1107.6 1100.2 1101.4 1100.2 1114.7 11014 1101.6 1100.4 1101.9 | 98.9 1101.3 | 99.8 1 99.6 1 100. 6
9 |99.9 [101.5 1100.5 1108.5 | 96.8 1100.9 1106.2 | 99.7 1100.8 1100.9 | 99.6 1101.7 ! 9.1 1101.1 | 99.7 ! 99.6 ! 100. 2
10 {100.8 [103.6 1102.4 11045 | 9.6 1100.1 1121.1 110.3 {1017 }101.5 | 98.1 }102.6 | 99.9 11013 | 99.8 | 99.6 | 100.3
11 [100.7 |103.1 5102.3 5102‘0 99.9 iloo 3 5116.7 5104 4 5101.0 5103‘6 iloo.z 5102‘4 5100.9 5101‘2 99.7 99.5 100. 4
12 [100.6 {102.6 1102.6 1105.0 : 99.8 1100.6 1107.6 1109.4 1101.2 1104.0 i 99.8 1102.2 1 99.0 1101.2 | 99.6 | 99.5 1 100.2
29/1(100.4 1029 11011 1105.0 1102.1 1100.6 1105.2 !116.8 11011 {104.4 100.4 1101.7 !100.1 }101.2 | 99.9 | 99.5 | 101.5
2 |100.2 |102.4 5102 1 2104‘3 5103.5 99.5 5104.8 iuz 1 5102 1 2101‘9 99.0 2102‘0 99.8 2101‘2 99.5 299.1 5101.3
3 [100.2 [102.3 1102.2 1105.0 1104.7 i 9.1 1100.9 1112.8 $101.4 1104.3 + 99.1 1101.7 1100.0 1101.2 | 99.4 + 99.1 +100.7
4 [100.3 [101.8 1100.3 1106.4 '107.8 $100.1 * 99.6 '103.3 '101.8 '103.1 ® 97.4 1101.5 '100.0 $101.2 | 99.4 ' 99.1 ' 100.9
T % *
. CE A B O I R 3 B I 2 B B B 2 & v
. . e |, g | | " FIE | v [T T
” w | Flow | I
@ | = k % | A 5
5 i % | it w | | | JIZ &
K Bl | o | W | v | B T y
i K AN s £ i 1%} i 3 5 fin A L) £ AR i} fﬂ H b
28/4 94.6 94.7 94.6 76. 4 iloo.o 101.0 99.8 5104‘4 98.3 5104‘0 iloo 8 99.8 [102.9 5102‘2 iloo.o 5102‘5 102. 4 103.2 100. 5
5 952 196.1194.1 1752 1100.0 | 98.8 1 95.0 1102.5 1 98.3 1100.7 1100.9 1 99.8 [102.9 1102.6 1100.0 1103.0 | 101.7 i 101.9 i 101.2
6 |94.5 1950 193.4 1752 1100.0 | 98.0 ! 92.3 1101.5 | 98.7 1100.7 '101.5 | 99.8 |102.5 1102.0 1100.0 1102.4 | 100.7 | 99.0 i 104.5
7 | 941 594.2 92.8 77.2 iloo.o 99.6 95.8 96. 2 5108.7 5101‘5 5100.5 99.8 [100.8 5101‘7 iloo.o 5101‘9 95.0 92.7 100. 4
8 |93.7 193.8192.0 1 76.0 1100.0 | 99.6 1 96.7 1100.4 1108.7 1100.8 1 99.2 1 99.8 100.9 1101.7 1100.0 1102.0 | 95.1 1 92.9 i 100.4
9 |93.4193.6190.7 ! 76.8 1100.0 [100.3 ! 97.2 1101.6 1106.6 1103.0 | 99.8 ! 99.8 [105.1 1104.3 1100.0 1105.1 | 105.4 ! 106.6 ! 102.5
10 | 95.0 1 93.6 1 90.6 ! 76.8 1107.3 |101.3 1103.0 1 98.7 ! 99.4 1104.5 ' 98.4 1 99.8 |105.2 '106.4 '100.0 '107.6 | 105.1 ' 105.7 | 103.6
11 | 95.4 93.6 90.7 81.5 5107.3 99.9 98.2 2101‘5 5101.7 2104‘3 97.5 299.8 106. 1 2107‘7 iloo.o 2109‘1 102.0 103.5 98.5
12 95.8193.7 190.9 1 87.3 1107.3 |101.4 1103.6 1 97.7 1102.0 1104.3 i 97.5 1 99.8 |104.9 1105.0 1100.0 1105.8 | 100.9 1 102.3 : 97.7
29/1]96.1 193.9 1 91.1 | 88.9 1107.3 [100.3 ' 99.7 | 97.2 1102.0 '102.1 | 99.8 ! 99.6 |101.1 1102.7 1100.0 !103.2 | 93.1 ! 90.4 | 99.5
2 [96.9 19481914928 1107.3 | 98.9 | 96.2 | 95.3 {1017 1102.8 | 98.7 | 99.6 |101.0 {1014 1100.0 !101.7 | 95.2 | 93.0 ! 100.3
3 | 976 96.0 91.8 92.8 5107.3 98.0 94.3 592.4 5101.5 5103‘4 97.7 99.8 |100. 4 5102‘2 iloo.o 5102 6| 93.8 92.6 96. 6
4 [98.5197.7192.2192.81107.3 | 98.0 : 92.8 1 93.7 1102.1 1103.1 1 9.4 1 99.8 [103.0 1103.7 : 97.0 1104.8 | 101.7 1 103.3 1 97.8
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28/4|105.4 1104.8 1103.3 [100.1 : 98.8 1 99.2 11011 | 97.6 1100.0 + 96.4 1100.0 [101.7 1102.8 1100.2 1100.0 [101.4 {105.8 i101.6
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28/4 |100.4 }101.1 [101.5 }100.0 }100.2 !107.2 !101.6 |101.4 || 90.6 [101.9 |{101.3 | 99.4 [102.1 |101.5 |101.0 |104.6
5 100.3 1101.2 [101.2 1100.0 :100.1 :105.1 :101.6 :101.4 | 91.3 [101.9 [100.8 | 98.9 |103.1 [100.4 | 97.3 |115.2

6 [100.2 1101.2 |101.0 1100.0 99.3 1104.7 11016 1101.4 | 92.4 [101.9 [100.5 | 98.9 [101.3 [102.3 | 97.1 |106.7
7 [100.4 1101.1 |101.1 1100.0 | 99.0 }106.3 !101.6 1101.4 | 91.2 [101.9 |101.1 | 98.9 |101.2 [107.3 | 95.8 [102.4
8 {1006 5102.6 101.0 §1oo.o 98.8 5105.6 2101.7 5101.4 89.8 [101.9 |102.3 | 98.9 [107.0 [111.2 | 99.0 |114.5
9 |100.4 11014 {1015 1100.0 1100.0 1107.9 1101.7 1101.4 || 90.2 [101.9 |101.4 | 98.9 [108.0 |115.5 |108.3 | 98.7
10 [100.5 1102.3 |101.1 1100.0 ! 98.6 '107.2 '101.7 $101.4 | 91.0 [101.9 [102.5 | 98.8 |118.0 |107.6 |131.1 109.9
11 [100.5 '102.1 [101.0 1100.0 | 98.4 1106.5 '101.7 1101.4 | 92.5 [101.9 [102.3 | 98.8 |112.1 [103.8 [123.9 |103.7
12 (1004 5101 6 [101.4 5100.9 98.0 5110.9 5101.7 5101.4 93.7 [102.8 |101.6 | 98.8 [109.2 [109.1 |109.3 |108.9
29/1|100.7 1101.0 |101.6 1100.9 ¢ 99.2 1110.2 1101.7 1101.4 | 93.9 [102.3 {100.8 | 98.4 [110.0 [110.1 |105.7 |116.6
2 [100.7 1101.2 [101.0 1100.9 | 97.5 1107.6 101.7 1101.4 | 95.3 [102.4 |101.1 | 97.8 [107.8 [108.7 [104.7 |111.7
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